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Instructions :

(i)

(iii)

(iv)

All questions are compulsory.

T ShHih 1 ¥ 20 T STITETIT U9 § | Y& U W 1 37k Areifed
T | W A SAferohan AR-TH 20 R R |
Question Nos. 1 to 20 are very short answer type questions. Each

question carries 1 mark. Maximum word-limit is 20 words.

T ST 21 24 T TYSWT T € | & U W 3 3k Aeifed € |
ST o AfYhaH AZ-FH 50 I3 7 |

Question Nos. 21 to 24 are short answer type questions. Each question
carries 3 marks. Maximum word-limit is 50 words.

¥ A 25 ¥ 27 T SESA0T T B | ToH T H STk folehed
foom T B | U W9 W 6 37 Aifed | ST T AfRaH weR-
200 9K E |

Question Nos. 25 to 27 are long answer type questions. Each question
has internal choice. Each question carries 6 marks. Maximum word-

limit is 200 words.
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(v) W HHE 28 (A) AHEA i 1 9 T, eH e=afie faehey fean
T 139 T R 6 ik TEfed § |

Question No. 28 (A) is map notation question, in which internal choice

is given. This question carries 6 marks.

e A% 28 (B) Thaa gfeana faenfe=i & fou g, food em=afiw
forehey foam T2 1 39 U9 W 6 37 sTEfed § | STt SAfershad weg-Hi
2009 B |

Question No. 28 (B) is only for blind students, in which internal

choice is given. This question carries 6 marks. Maximum word-limit is

200 words.

(vi) W HHIR 29 F 31 T <HSTT T © | TS W9 H 7=l fashe
feom T B | T U9 W 8 3ih ofeifed € | ST T Sifehad Sek-di
3009= B |
Question Nos. 29 to 31 are long answer type questions. Each question
has internal choice. Each question carries 8 marks. Maximum word-

limit is 300 words.

YIT-1

YIT-2

YIT-3

-4

U5

gSH TEhid o @nT Heg e’ Y o 9 ? [1]

How alloy bronze was made in Harappa Civilization?

TRTYRA 1 5 fohd & | gaTr o1 ? [1]
Where was the Battle of Mahabharata fought?

TETCHT G 1 ST hal g1l o1 ? [1]
Where was Mahatma Buddha born?

gSWI TEhR(d i @il fohe &t ? [1]
Who discovered the Harappa Culture?
YUY SR YA ShT AT 14 o1 2 [1]

What was the name of Dhritrashtra’s wife?
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Y9A-6  HRIAR TH! 1 STH gl gTl o1 ? [1]
Where was Mahavir Swami born?

Yga-7 DAY ? [1]
What was Chaitya ?

yva-8  fow ud & geemus wH 9 ? [1]
Who was the founder of Sikhism ?

Y9a-9  ‘qgHEd’ o TR i 9 ? [1]
Who was the writer of ‘Padmavat’ ?

yga-10  ‘ae fRu w2 [1]
What is ‘Taj Keera’?

Y9-11  Ee fao] o fha Sfaar o S § 2 [1]
How many incarnations of Lord Vishnu are considered ?

W9A-12  Hichd YOIl &7 & 2 [1]
What is Kanakut System ?

Y9-13 G Holed i o ? [1]
Who was Abul Fazal ?

U9A-14 ' STHAHAMT 1 TS ATaE fohem fopam 2 [1]
Who did translate the ‘Akbarnama’ in English ?

y9a-15 51 SR gifae e off ? [1]
What were Jama and Hasil?
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U9-16 T 1857 H foRR H fasifedl o1 7 &l= o ? [1]

Who was the leader in Bihar during AD 1857 Rebellion ?

Y9a-17  Tieh-gfom Teiian e gem ? [1]

When was Gandhi-Irwin Pact took place ?

Y9I-18  SUrTE H €I el Il S § 2 [1]

Where is diamond found in Chhattisgarh ?

Y9-19 YR WG9 991 o Weq 9fifa & T &E 9 ? [1]

Who was the President of Drafting Committee in Indian

Constitutional Assembly ?

q-20 '3 firem et T oA TER g g H o e 1 3 e T famea &
foromr © gt T ot ? [1]
“A cherry that will drop into our mouth one day.” About which

Princely State is the statement said ?

Yg-21 TSW GEh(d o AfqH TR i T8 diF fafe=i fafen | [1x3=3]

Write any three funeral procedures of Harappa Culture.

Yg-22 W T ? 98 fhaml & fau f5d gr vt o ? [1V5+1%4=3]

What is Rahat ? How was it useful to the farmers ?

Yoa-23  AN-9N i R it feoof fafew ) [3]

Write a short note on Chauri-Chaura Incident.
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Y9H-24 69 1857 % TaRIE o g U9 TSI o FeHIeh ROl fafa | [1%3=3]

Write down any three political and administrative reasons of

AD 1857 Rebellion.

UIF-25 Gl IR Wi Ty & faemi § 9o aemard off 2 [1x6=6]
What were the similarities between thoughts of Sufi and Bhakti

Community?

srar
OR

! STTE-T-3TRE 3TeheR oh TR Wl QYT § | 3o R i gfE it |
“The ‘Ain-i-Akbari’ was the mirror of Akbar’s administration.”

Justify this statement.
UPA-26  YRAIT WAy @t faRivare i aui hifsa | [1x6=6]
Describe the features of Indian Constitution.

s7erar
OR

T 1857 o ToRIe ol STHwadl < HRUIT o fafeT |

Write down the reasons for unsuccess of AD 1857 Rebellion.

U9-27 Ty =1t MeAdn st R AISHT ki SR HifS | [6]

Describe about town planning of Indus Valley Civilization.

sTar
OR

aig o iR S o ot frems®i § ©: of@ faf@w | [1%6=6]
Write down the six differences between teachings of Buddhism

and Jainism.
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YI1-28

[6]

(A) 9RA & At | fifed = gz

(/) hIcTeR (i) TEIH
(iii) 3F WX (iv) SRTOTEt
(v) foremamaT (vi) W3
Show the following in the map of India :
(i) Kolkata (ii) Indraprastha
(iii) Arabian Sea (iv) Varanasi
(v) Visakhapatnam (vi) Meerut
arerar
OR
URd o A § f=ifed o1 g9z .
(i) STYIW
(i) feoeit
(iif) 3T
(iv) Te< HeEmR
(v) TUER
(vi) HEHER

Show the following in the map of India :
(i) Amritsar

(ii) Delhi

(iii) Ajmer

(iv) Indian Ocean

(v) Hyderabad

(vi) Kashmir
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YIT-28

Y91-29

T91-30

[7]
(B) Fac gieanya sl # forg— [6]
Only for blind students—
& & <d W Ha # fay fafaw |

Write a short essay on Guru Nanak Dev.

s7erar
OR

T 1857 °h STRIT o RN I UM hHITIT |
Describe the causes of AD 1857 Movement.

i 7o 1 <91 H 91 g9 vet ? famr @ fafaw | [8]

Write in detail about the effect of Bhakti Movement in the country.

3ear
OR

el hlel H ARd | STHIQRI skt fHerT R off 2 samea whifsa |

What was the role of Zamindars during Mughal Period in India?

Describe it.

ST AT = HLTeHT el ol Wb TET a1 fohd YehR ST ? ST
IS | [8]

How did Non-Cooperation Movement help Mahatma Gandhi to

become a national leader? Describe it.
37Ygar
OR

BTG oh ATHH0 & Gae | Fafaa fafi= Hqadl ol Seei@ Sitad |

Describe the different opinions regarding naming of the Chhattisgarh.
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[8]
S5 o F TER-TER % TS HRON 61 9 Hife |

Describe the main reasons for the spread of Buddhism.

sfeqar

OR

gSW TR o AHINSh Siiad o IR H faer 9 fafaw |

Write in detail about social life in Harappa Culture.

[8]
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